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Yo-97 F AT GF Y, AT HE |

There are THREE sections in the paper A, B and C.

AFr7-0 4 X7 qear 1 & Tt 10 gl & 3 AT | TF WP T 3 F 8
g @ 10 977 TG GFR F T F 8 |

Answer all the 10 parts of the question No. I in Section A. Each part

carries one mark and all 10 parts have objective type questions.
- 5 8 T 7 @ FsET 6 YA & IR 0T | ¥F T 3 3% 1 8 0
g1 5 ET / 50 Wegl 7 I G |

Answer any 6 questions out of the 8 questions in Section B. Each question

carries 3 marks and to be answered within 5 lines / 50 words.
SewA-dt & 6 T 4 @ gl 4 7o & IR T | FI% 597 8 IF FTB T
Z7e7 15 15 / 150 9/&gl § 3e¢ e |

Answer any 4 questions out of the 6 questions in Section C. Each question

carries 8 marks and to be answered within 15 lines / 150 words.

g% G & G 9E1 1 FAAR T HTY E BT |
Solve all the questions of a section consecutively together.
ﬁﬁwﬁﬁmﬁ##@ﬁﬁmms‘im? /

Only English version is valid in case of difference in both the languages.
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Section — A

U § x 4 2TE WRR UaHe ¢ § fehad feshfime g # 7

(a) 1 (by 2
(c) 4 (d 8
How many differentials are there in a 8 x 4 dual steer axle truck ?
(@ 1 (by 2
c) 4 d 8

i Frere el 6 e we (Raegen ) § am: i S
gt Icaa & 8 7

(a) @H (b) G=fied

(c) U (d) A

Which type of stress is generally produced in the stabilizer rod of independent
suspension system ?
(a) Tensile (b) Compression

(¢) Torsion (d) Bending

(iii) @ % gHA aTel gail i wgar B ey

(iv)

(a) =F™ (b)  Hfrepam

¢) YA (d) 39§ & ¢ TE
Inertia of the rotating parts of clutch should be

(a) minimum (b) maximum

(c) zero (d) None of the above
Ziao 4 %1 g fe 1 | frg a A g 2 7

(@ 2xI1 (b) 3x2

() 4x2 (d) 4x4

In which of the following vehicle, transfer case is used ?
(@ 2x1 &), ix2
() 4x2 (d) 4x4
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(v) U3 el YR & 93 U Se § 9o AT e Ed @
(a) e gfraEe g U1 Tk HEhA 1S
(b) @ Ffada g au T WEHA A1g
(c) @ gfade g ad § TEHA A8
(d) U YFade ATg aUT HIE TWHA A1 TE
In torque tube type rear axle drive, the propeller shaft is fitted with
(a) One universal joint and one sliding joint.
(b) Two universal joints and one sliding joint.
(¢) Two universal joints and two sliding joints.

(d) One universal joint and no sliding joint.

(vi) frata v ) Gdi-GEEE A ST % Frafa 1 ST S SH &
fEmaman? |
(a) Trrm Bfreies (b) TEAHE
(¢) wau Afiwies (d) e i SAheE
In vacuum type servo-assisted brake system, the vacuum from _____ is utilized

for brake application.
(a) exhaust manifold (b) combustion chamber

(¢) intake manifold (d) water jackets

(vii) it Fferat wehm & Tahd siehi H
(a) <% ThAERATAE | (b) FHdl % ol % A B 2 |
() THNFHTHTEFHLEALE | (d) Tl % 21 A 3 Y 2 |
In floating caliper type disc brakes
(a) Pistons are on one side of the disc.
(b) Pistons are on either sides of the disc.

(c) Brake shoes are on one side of the disc.

(d) Brake shoes are on either side of the disc.

P.T.O.
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(ix)

(x)

(a) HrETd HLELEH

(b) o g gapma

(c) v a fobm o gobra &1 (d) W eA-3a F

Included angle is sum of the

(a) Camber and Castor

(b) Castor and king pin inclination
(c) Camber and king pin inclination

(d) Camber and toe-in
TE Eaf 2q gerya THem g 2

(a) sin¢g+sinB=

o Tl~

(c) c0t¢~c0t9=}‘ (d) tand—cotO =

(b) cos¢—sinb=

T ~|T

/

7361 .

&l o6 ¢ 31t 0 = f5m HIoTl W Fm: a are 3 et are ufggi & 3% ged €,

b = 3Tt i <t fobm fom it o ofre r 2,
| = 99

The fundamental equation for correct steering is

(a) sin¢+sin@=1 (b) cos¢d-—sinB=

~|lo T~

(c) cotd—coth=

(d) tan¢—cotB=

~|T ~|o

Where ¢ and 6 = Angles through which the axis of outer and inner wheels turn

respectively,
b = distance between the king pin centers on front axle,

1 = wheel base.

HRI H UTE: YA B arelt sty ufrdy vl gt 2

(a) #iesee (b) ¥®

(¢) THE (d) wrafi
The ‘Primary Restraint System’ common used in cars is
(a) Seat belt (b) Brake

(c) Airbag (d) Steering

(1x10)
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Section - B
qfrada 2 fem ve fer g fam 8§ #n = 2 ¢
What is the difference between variable rate spring and constant rate spring ? 3)

U 6 X 4@%%%&&@3%3@@’@%3@@%%@8%
1Y |

Draw simple layout diagram of an articulated commercial vehicle having 6 x 4 rigid

tractor with tandem axle trailer. 3)

mm@aﬁmamﬁﬁﬁmﬁmﬁm

Explain the construction and working of fluid flywheel in brief. (3)
CVT % Hrwr fagra ! awsse |
Explain the working principle of CVT. (3)

Frafera aun Ua el WHR & Sifm STl ) EE § a1 A g 2 7

What is the difference in construction of hotchkiss and torque tube type final drives ? (3)

‘@ﬁm%&nm'mmmﬁm%?

What is the function of ‘Anti lock Braking System’ ? (3)
i aet e feg Hon i afearfea it |
Define cornering force and slip angle. (3)

P.T.O.
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9.

10.

11.

12

13.

1 Hiz dee % Hream & Jies 6 g 4 wd 2 7

How the safety of driver is ensured by means of car seat belt ? (3)

Jage —

Section - C

s grad favan s areft e s soneft 6 g wd sriyre St amifea fa
&1 TR § HEHTET |

Explain the construction and working of a double wishbone arm independent

suspension system with the help of labelled sketch. (8)

Zta aera gfErer ! Amifea o 6 g | gugmgu |

Explain hydraulic clutch operation with the help of sketches. (8)

e <t ifq vt 31 et fafvm et qen 372 wnfea w3 ot st & avfa ifsm |

Describe different resistances on the motion of vehicle and the factors affecting the

same. (8)

feelt wsh webr & =t sl 1 wfea avi Hife qur gu i i gon § T F91 *

a9 e fafau |

Describe with sketch any one type of disc brakes and write down advantages and

disadvantages of disc brakes as compared to drum brakes. (8)
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Define with sketch and explain the effect of following in relation to front end

geometry :
(i)
Camber
(i) =T
Castor
(iii) Tem o= g
King pin inclination
(iv) I BT
Included angle (8)

15, s SN i § A fafia et & o A )

Describe different features required in a car body. (8)
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